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However, it should now be apparent  — 913 17193 KO 7IR7M INYR RON
that a protest lodged not in his presence, etc.

OVERVIEW

X217 maintained that the three years required for a 7P is because a person
(usually) does not keep his 0w for more than three years. The 2°ndn were
concerned that an unscrupulous w7¥» may wait three years (from after the time
he sold the field to the p°1n), when he is reasonably certain that the P>1mn lost
his 7vw, and will claim that he never sold the field. We protect the P> from
such fraudulent claims made after three years of a purchase, by instituting the
three year law of 7P, The 7v7yn is being put on notice that any 7Xm»M must take
place within three years of the nipm.! Otherwise he loses his status as a prmn, and
the P11 becomes the prma. [If, however, the 7v7vn has a valid reason why he did
not make the X7, then it would not be a valid npm.]2

»aX argues that if the purpose of w"ar is to insure that the P11 does not lose his
property through the deceit of the v vn, then the 7v7yn should be required to
make his 7xnn (within the three years) in the presence of the >1rn.” The pomn will
then be aware of the 7Xn» and be able to safeguard his property, by holding on to
the "vw. If however the Xm» is made 1°192 X>W it should not be a valid xmn; but
rather the 7Pt should be sustained. We are assuming now in the X"17 that a axmn
17192 X9Ww will not necessarily be heard by the p>1rn.

— NN 992 Y)Y YR $ANT I S9PINY XI'YT PNYY 13529 99N
The ' says that we cannot justify the challenge of *"aR (namely, that a

' This is one of many interpretations concerning 2°w ‘s npri. [It seems to complement the content of this nooIN.]
According to this understanding we do not interpret the silence of the 7¥7¥» as a tacit admission that it is not his
field. Rather we maintain that if the 7¥7¥» was not 7im» during the first three years (while the P> still possesses the
W [as the 0°n311 require]); any subsequent claims are not valid.
? One must bear in mind that in these cases, the 7ywn (usually) has proof that he was the original owner (the X2
Xnp). The p°1rin is the ®°¥1n. There must be sufficient cause to change the 1Pt from the 2y yn to the primn.
? If the explanation of @"x1 would be based on the fact that since the 57y» was not 7mm for such a long time, that
proves that it is not his field, then even a nXnn X7w 17192 would be sufficient. According to that explanation, since the
qyyn brings o7y that he was 192 X5 nn then there is no proof. If however we are not attempting to prove
anything from the s"™w7yn silence per se, but rather we require a 7Xm» within three years to protect the rights of the
21171 (and) that he should retain his 7w, then the p°1 must be aware of the 7Xn»; otherwise it is a useless XM, See
‘Thinking it over’ # 5.
* The "7 M7 amends this to read v 197 WD,
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protest that is made not in the presence of the P11 should not be a valid 7xmn,
rather the 711 should stand; this cannot be justified), in all situations, but rather

only when the “y7¥» and the P 1n are [living] in the same city. »ax argues that the
P11 can claim that had the 2y7y» made the Xm» in my presence, I would have kept the ww
longer than the usual three years. However, since the 237v» made the P 1mnn *102 KW arm» (in
order that the ?°1 should not be aware of the 1iXmn); therefore the 2°1m did not watch the 0w
after the three years. The fact that the 9y y»n was P> Iman 192 R2W M supports the claim of the
> that he indeed bought the field, and the 7y7wn is being deceitful.” moon argues that this
challenge of »aX is valid only when they live in the same city. The 2v7v» should be required to come
to the P personally and make the nXm» (within three years of the alleged purchase [732117]). Then it
would be clear to all; if the 1177 has the 0w he is the Prmn, otherwise the v7yn is the pinva. However
if the °v"yn made the 192 X5Ww 7Xmn, it should not be considered a aXmn. A 17192 XYW I8mn does not
fulfill the intent of a 7Xm»; namely to warn the *11n to hold on to his 7vw. This challenge of »2X is
proper when they both live in the same city; where we can reasonably (without undue hardship)
demand of the vy to make a 1°192 AR,
— PN RN NINNN RNN XDT 7599 350 HINN Y3 INT
However if the v v»n lived in a different city than the Ptmn how can X
challenge X271 that it should not be considered a valid Rm?, but rather it should
be considered a valid 71pt,% since the 9v7wn did not make the XM in the presence of the
P>1n; This cannot be -
— PN NN XY ANNN XMNN NDT 1% NN
On the contrary! Since it is not a valid a8m»; for it is 1192 ROW and the p>1rn is
not aware of it (to keep the 7vw), then the ruling should be that it is not a valid
A2t0. The basis of all mpmn is that if the 7w yn is truthful, then he should have made a
TXmn (within the three years). If, however, we assume that the 1192 X5 7xnn will not reach
the p i, then there is no purpose in the nxmn.’” If there is no purpose or reason to make a
7Rmn, there can be no 7PN, The w7 yn will argue that he did not make a 7Rmn since it is
useless; the p°1n will not hear it anyway. It cannot be argued that the 7¥7v» should make it

his business to appear before the p>1171 and deliver the 71 personally -
2 9mmY 'nomta MNNGY H3thnn 2399 NINN S99¥a XaY 7598 199N NNT

5 A 1192 R9W IXM7 is similar to a XA7 after three years; in both case the p°1mn will not watch the qvw.

® It is evident from the way »ax phrased the argument of the p>1n, saying *X7uwa XIVTTPn M “Ro[1]X2 N°mn K, that

the intent of the challenge is that the p>1m» is in the right, and it should be a P11, See X2R 7"7 2,m5 Moo, where the

question 7IRM7 7NYN RYX is explained differently. See ‘“Thinking it over # 1.

’ This is especially true since the (whole) purpose of the 7ixm» is to warn the P> that he should safeguard his Tow.

See footnote # 3.

8 The n"2n M1 amends this from ¥2 to yb.

% See X"w1mm who states that when mPoIN writes that it is ‘evident later’, m»oon is referring to what he said
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For the v vy» is not required to travel to another city to lodge his 87 In

the presence of the P, as is evident later in the X3 In conclusion; »ax did not
ask his question in a case where the P11 and the 7¥7vn live in separate cities. In such a case *2aX
maintains that it should not be a 7pIm; i.e. a I M7 XY P19 XoW 7piA.

SUMMARY

The question 7XnM XN X7 19192 ROW 78n7 is only in a case where the 2y yn and
P> lived in the same city. In a case where they lived in different cities, the ruling
will be (in this X"17) that there is no 7p117; for there is no obligation on the v vyn to
travel in order to be 17192 mn.

THINKING IT OVER

1. Why does mooin interpret the previous question of 121 Xnn 1nvi X9X (on 2,7
n7) to mean that since it is not a 7xAn it should not be a 7pm;'* however here
MooIN interprets this (same) question to mean that it should be a 7p11?

2. Why does mooin assume that the 7¥7v» need not travel to the city of the P 1mn
to make the 1192 xmn?"

3. Could have »2aX challenged X217 in a case where the 2v7yn and P11 live in two
different cities?'*

4. It seems that 2R was certain that a axm? "7 17192 XYW a8An. From where did he
derive it?

5. Why does *a ask this question of 121 X 7Ny XPX only on the last answer of
X27; not on any of the previous answers?"

previously that when there is no (possibility of) f&nn there is no 7P, this is what is evident from the X3 later (see
following footnote # 10). [However concerning what mao1n states immediately prior, that the 7¥7¥» need not go to
another city to be P11 °192 7N, that is self-evident, and needs no proof to support it. See “Thinking it over # 2.]
12 See the Xxm3 on X, concerning °X12 *»wa and the 71w on X,7>.
"' See “Thinking it over’ # 3.
12 See footnote # 6
1 See x"wnn. See footnote # 9.
' See footnote # 11.
'3 See footnote # 3.
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